GROUP 2 FALLACIES

#1
Henry:  To attend the college I want I will either have to get the money from my parents or get a job.

a) Strawman fallacy

b) Applepolishing fallacy
c) Fallacy of false dilemma

d) No fallacy
e) Appeal to Popularity – Bandwagon
#2
You can’t say that my conclusion doesn’t follow from my premises.  I think that it does.

a) Appeal to pity
b) Wishful thinking
c) Perfectionistic fallacy

d) Fallacy of false dilemma
e) Subjectivist fallacy
#3

I can’t identify the type of fallacy that is contained in the passage above, so it must not contain any fallacy.

a) Strawman fallacy

b) Applepolishing fallacy
c) Perfectionistic fallacy

d) Fallacy of false dilemma
e) Appeal to Popularity -- Bandwagon

#4

#5

#6

#7

#8

#9

#10
Joan Hilty:  Joshua Green spent pages detailing Hillary Clinton’s remarkable professionalism, political agility, work ethic, and ability to grow on the job, (“Take Two,” November Atlantic), so what more does he want of her?  He criticizes her lack of “big ideas” and crusading causes,” but can he name a single big idea or cause that Governor George W. Bush was known for when he sought the presidency in 2000?
Author’s response:  I’m happy to address Joan Hilty’s criticisms of my Hillary Clinton profile, but let’s dispense with the straw-man comparison to George W. Bush.  Surely we can agree that it would be deeply unfair to doom Hillary Clinton
It’s unfair for Joshua Green to criticize Hillary Clinton.
1.  What is the writer’s implicit conclusion in the passage above?

2.  How does the writer argue for the implicit conclusion in this passage?
Why does the author say that Joan Hilty’s argument suffers from the strawman fallacy?

